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1 17=1000 kr
1vT=10 4

1 =100 kr
1 xkr=1000r

R EAMHULIBILMACCDIam, EOAMHULIBLIL BPEMEHMWS

1 Bex = 100 ner

1 rog = 365 unu 366 cyrok
1 cytkm = 24 yaca

1 yac = 60 MuHyT

1 muHyTa = 60 cekyHA

eEOAVMHAMLIbLI OJivHbI., EAWMHULILLIIJIOLWLALA,

1 xkxm =1000 m
Tm=10am =100 cm
1m=1000 mm

1M =10cm =100 mm
Tecm =10 mm

1 m?= 100 gm?

1 m?*= 10000 cm?
1 am?= 100 cm?
1a =100 m?
1ra=100 a

1 kxm?’=100 ra




Ipucmaexa

qucnosas = :
Muoxcumene Qoo3xaveHue Mamemamuyecxuii cMbic1
3aNUCH Hauvexoeaxue |
| pycekoe | MEHCOVHAPOOHOE
10 ? | 1oo00000cc [UTa I G MELTHZpT
1 0 0 1000000 Mera M M MHTHOH
10°
1000 KHWIIO K k THICAYA
1 0_1 0.1 I[eHI/I )| d O7IHa JiecqTad
=)
1 0 0,01 CAHTHU £ C 0IHa COTaf
10 ‘
0,001 MUJIIIU M 11 O7THa THICAIHAS
1 0 6 0.000001 MI/H{pO MK I 0IHa MHITHOHHAA
1 0 9 ULLILLELL H ﬂHO H 1l 0HA MHITHAPTHAL
1 0—1 2
0000000000001 TIMKO [ P OIHA TPHITHOHHAT




% BbIPA3UTb

% B meTpax 3;‘_3 ; ;XpaTHbIX SI e|<Typ6av|XL|ec|<|/|x
=9 25 KM 5 KM? 2 KM

W68 cm 040 cm? 50680 cm?
% 5973 MM 89570 MmM2 509030 Mm3
=y 956KM 32 KM? 56 km>

=9 879 MMm 542879 mm2 8790 mm°
% 9045¢cm 623145 cm? 4590 cm?®

=1
1 kM=1000 M=10°m  1kmM?=1000000 m?= 10°m? 1km>=1000000000m°=10° m°
1cm=0,01mM=10 °m 1 cm?=0,0001m?= 10*m?  1cm®=0,000001Mm°=10"°m"
1MM=0,001mM=10"m 1mm?= 0,000001m%=10"°m? 1 mm>=0,000000001m°=10"m">
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